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F&E15{A"Crossing” ) 5E 2

3'5%,.“0)ID (8 hllZ&=) typedef struct]

To}
char name[50];
double X, v;
double walt,
Int points;
int next [5];

} Crossing;
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FE1E{AR"Crossing’ D E &=

typedef struct] typedef struct|
Int 1d; Int 1d;
char name[50]; char name[50];
double X, vy; -3 Position pos;
double walt, double walt,
Int points; Int points;
int next [5]; int next [5];

} Crossing: } Crossing:
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FE1EIAR Crossing NDEFE FE1EAR"Position” D E &=

typedef struct] typede1c struct{
int 1d; double x,y;
char name[50]; } Position;

Position pos;
double walit,
Int points;

int next [5]; gj—é'&\ Uti&&)fi:&jak%ﬂ(i\
} Crossing; BEATEEZLTHS
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o fprintf(fp,”%d¥n ,crossing number):
e fscanf(fp,”%d” ,&(crossing number));
readfile.c
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void search_cross(void)

{

int i;

char buff[256];

int f=0;: /* RO oT=MEI DTS */

printf("RXER BT ANLTLZS0Y (A—TF)->");
scanf("%s",buff);

for(i=0; i<crossing_number; i++) /* T —A3% & EEZTIL—T */

{
if(strcmp(cross[i].ename, buff)==0) /* —FZL71=5%*/

{
printf("3X 2= L %s(%s) EEAZ %.21f,%.2If ERANS D FRE %.21f¥n",
cross[i].jname,cross[i].ename, cross[i].pos.x,cross|i].pos.y,
hypot(cross[i].pos.x,cross[i].pos.y)); /* hypot & sqrt(x*x+y*y) ZstELFET */
f=1;
}
}
if(f==0)
puts(“EOMYFEEATLIZ"); /* puts [ XFHNZEFRRLET */
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void search_cross(void)
{
int i;
char buff[256];
int f=0; /* RO\ o1=0EDDTZY */
printf("RXER BT AANL TS (O—TF) -
scanf("%s",buff);
for(i=0; i<crossing_number; i++) /* TS it = CIL—T *
{
if(strcmp(cross[i].ename, buff)==0) /* —EZL1=*/
{
printf("3RX = R % %s(%s) FEAZE %.21f,%.21f BRHVio D EE B %

cross[i].jname,cross[i].ename, cross|i].pos.x,crog&.pos.y,
hypot(cross[i].pos.x,cross[i].pos.y)); /* hypot [& sqrt(x*x+y*y) ZsTELFET */

stremp £

f=1;

puts(“B DY FEEATLIZ"); /* puts (X XFINERRLET */



O == > Vodaw
O Ea—25E (58[E])
S—Fo 08 )—T427
v P .
H—F #o—
void search_cross_aprox(void)
{
int i;
char buff[256];
int f=0;
printf("RXZE=R B A DL TS (A—TF)->");
scanf("%s",buff);
for(i=0; i<crossing_number;i++)
{
if(strstr(cross[i].ename, buff)I=NULL) /* & A CLMf=5 */
{
printf(“3X & R B %s(%s) FEAZ %.21f,%.21f BRHVS D BEEE %.21f¥n”,
cross[i].jname,cross[i].ename, cross[i].pos.x,cross|i].pos.y,
hypot(cross[i].pos.x,cross[i].pos.y));
1=
}
}
if(f==0)
puts("ROMYFEFHATLE");
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void search_cross_aprox(void)

{
int i;
char buff[256];
int f=0;
printf("XXE R BT AADLTLIZELY (A—TF)->");
scanf("%s",buff);
for(i=0; i<crossing_number;i++)

{

if(strstr(cross[i].ename, buff)!=NULL) /* & A TL =5 */
{
printf(“3X ZE R %s(%s) FEAZ %.21f,%.21f BRHVS D FEEf %.21f¥n”,
cross[i].jname,cross[i].ename, cross[i].pos.x,cross|i].pos.y,
hypot(cross[i].pos.x,cross[i].pos.y));
1=
}
}
if(f==0)
puts("ROMYFEHATLI");




: / t 1_9 % E ( 8 @ ) cross[1].pos.x, cross[1].pos.y

cross[2].pos.x, cross[2].pos.y ‘
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void search_min_distance(void) /* &5 FE B fE 2 */ O

{

cross[0].pos.x, cross[0].pos.y

cross[4].pos.x, cross[4].pos.y

int i; O

int minindex=0; /* BEMY T DALE */ cross[3].pos.x, cross[3].pos.y

double dist, mdist; /* ET{ZL{E */

double x,y; /* FR3= I R REAZ */

printf("#R ZE #th M PEFEAE A L TSN (%%If %%If fF2K) > ");

scanf("%lIf %If",&x,&y);

for(i=0;i<crossing_number;i++) /* T—A R EEZTIL—T */

{/* BEDOEENYT OEFHMmEUE */
mdist=hypot(cross[minindex].pos.x-x,cross[minindex].pos.y-y);

/* PRENE DFHMZIE */

dist=hyp0t(cross%]|§. p;%x-x,%OSSE:ri] .pOS.Y'y),' % é i‘li’]: nn 75 b O) 3& % nn O) EE %—ﬁ
if(dist<mdist) /* PEERZ D B ALY */ y s L s
- % \:L.\éf- )TttEXL/—CL\é

}

printf(“PERE( %.2If, %.2If )DL m M S iz EHITLVR ZE = (BB %.21f):¥n”,
X,y,hypot(cross[minindex].posx-x,cross[minindex].pos.y-y));

printf("X = M B %s(%s) FEE %.21f,%.2If BRHNS D EEEfE %.21f¥n",
cross[minindex].jname, cross[minindex].ename, cross[minindex].pos.x, cross[minindex].pos.y,

hypot(cross[minindex].pos.x,cross[minindex].pos.y));
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5837491620 = 5 7491620
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void sortO(void) /* /\T )L —k */
{

inti,j;
int lo=0, up=N-1;
while(up>lo)

{
j=lo;
for(i=lo;i<up;i++)
{
if(compare_data(i,i+1)>0) /* [EF A IELLZE T (X */
{

exchange datal(i,i+1); /* 3c 2 */

j=i;
}
}

up=j;
}
} »compare_data/exchange_dataPd#¥ a0 — FATRIEEZ L TS
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